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SOCIOLOGY
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1. Who was concerned, in his methodology, with ‘the way in which people grasp the
consciousness of others while they live within their own stream of consciousness’ ?

(1) M. Rogers (2) Alfred Shutz
(3) J.Duglas (4) George Ritzer

2. Which one of the following approaches mainly focuses on ‘consciousness’ ?
(1) Ethnomethodology (2) Comparative method

(3) Phenomenology (4) Functionalism

3. Who have written the book, ‘The Social Construction of Reality” ?
(1) T.Luckmann and Reinhardt Bendix
(2) Peter Berger and T. Luckmann
(3) Ruth Benedict and Peter Berger
(4) Reinhardt Bendix and Ruth Benedict

4.  Who provides an account of ‘the role of common sense knowledge in the social

construction of every day life and institution” ?
(1) Peter Berger (2) George Lucas
(3) Max Weber (4) Erving Goffman

5. Who is said to be the founder of the specialist approach of Ethnomethodology ?
(1) Alfred Shutz (2) Harold Garfinkel

(3) Erving Goffman (4) John K. Galbraith
Paper-111 2 JA-005-17
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10.

11.

Match the List-1 with List-11 and select the correct answer from the codes given below the
lists :

List—1 List—11
(Concepts) (Thinkers)
a.  Exchange I Erving Goffman
b.  Dramaturgey ii. P.M.Blau
c. Inter subjectivity iii.  H. Garfinkel
d.  Indexicality iv.  Alfred Shutz
Codes :
a b C d
1) i i i 1\
(2) iii iv i i
(3) iv i i i
4) ii [ iv iii

According to whom ideology must be seen not merely as ‘false consciousness’ but as an
important part of real social relations ?

(1) Habermas (2) Althusser

(3) Adorno (4) Giddens

Unlike functionalism, neofunctionalism devotes roughly equal attention to which of the
following ?

(1) Action and Order (2) Action and Reaction

(3) Beliefs and Practices (4) Actor and Situation

Which term Althusser has used to convey the idea that major changes in society are
complex and multiply ?

(1) Multiplicity (2) Over determination

(3) Contradiction (4) Reductionism

Who among the following can be classified as a “critical theorist’ ?
(1) Alexander (2) Habermas
(3) Althusser (4) Bourdieu

According to Alexander which one of the following is not the problem associated with
structural functionalism that neofunctionalism needs to overcome ?

(1) Anti-individualism (2) Conservatism
(3) Idealism (4) Multidimensionalism

Paper-111 4 JA-005-17
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12.

13.

14.

15.

16.

Who among the following makes use of the concept of ‘communicative action’ in the
process of making ‘validity claims’ ?

(1) Turner (2) Althusser
(3) Habermas (4) Giddens

The concept ‘difference’ used by Derrida refers to two meanings. Which one of the
following pairs is true ?

(1) Differ and Prolong (2) Distance and Closeness
(3) Defer and Delay (4) Differ and Defer

An important aspect of Giddens’ structuration theory that gives dynamism to modernity is :
(1) Modern Institutions

(2) Life World

(3) Time and Space distanciation

(4) Self identity

Match List-1 with List-11 :

List—1 List—11
(Thinkers) (Concepts)
a Foucault I. Structuration
b.  Habermas ii.  Logocentrism
c Giddens iii.  Public Sphere
d. Derrida iv. Panopticon
Select the correct answer from the codes given below :
Codes :
a b C d
(1) iii i [ 0\
@) iv i [ ii
3) i i iii iv
4) i i i iv

According to Giddens “structure’ refers to :
(1) Rules and Resources

(2) Network of Social Relationships

(3) A definite pattern

(4) Norms and Values
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15.

16.
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17.

18.

19.

20.

21.

22.

Who among the following has developed the concept of ‘discourse’ in his writings ?
(1) J. Alexander (2) A. Giddens

(3) M. Foucault (4) J.Derrida

The first scientific racial classification of India was attempted by which one of the

following ?
(1) D.N. Majumdar (2) Herbert Risley
(3) Max Muller (4) L.P.Vidyarthi

‘Gotul’ is found among :
(1) Bhil (2) Muria
(3) Ho (4) Bhotia

Which article provides for assistance to the states for the implementation of provisions of
the Constitution of India, meant for the Welfare of the SCs and the STs ?

(1) 275 (2) 238
(3) 224 (4) 339

Which of the following tribes is metrilocal and matrilineal ?
(1) Kadar (2) Toda
(3) Khasi (4) Mizo

Which of the following tribes were studied by Surajit Sinha ?
A. Bhumij B. Bhils

C. Oriya D. Maria Gonds
Select the correct answer using the codes given below :

(1) AandB (2) AandC

(3 AandD (4) All of the above
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23. Match List-1 with List-1l and select the correct answer using the codes given below the

lists :

Codes :

a
1) i
@) iv
(3) i
@) iii

a.
b.
c
d

List—1
Jatavas
Bhils
Iravas
Bakarwalls

iii.
iv.

List— 11
Rajasthan
Kashmir
Uttar Pradesh
Kerala

24.  Who, among the following, are associated with Indianisation of Sociology ?
(1) G.S. Ghurye, AK. Saran, D.P. Mukherji
(2) G.S. Ghurye, T.K. Oommen, A.K. Saran
(3) G.S. Ghurye, A.R. Desai, D.P. Mukherji
(4) G.S. Ghurye, T.K. Oommen, A.R. Desai

25. Match List-1 with List-11.

a
b.
c

d.

List -1

(Perspectives)

Book view
Field view

Civilizational view
Subaltern view

List— 11
(Thinkers)
I. Surajit Sinha
ii.  David Hardiman
iii. G.S. Ghurye
iv. S.C.Dube

Select the correct answer from the codes given below :

Codes :

a
@) iii
@) i
@3) iii
@) iv

Paper-I111
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a Srea . REISIC]
b. o ii.  HEER
c. @ i, SRR
d. SFRE iv. &

T
a b c d

(1) ii iii iv i

(2) iv iii ii i

(3) i iv iii ii

(4) iii i iv ii

24, TG B | i THSRRE % YRAFHOT § Tafd & ?
(1) SHUd. 93, TH, T, S qehsll
(2) Stug g3, 3% S, TH T
(3) SHUd. ¥F, TR, 3T, L. gl
(4) Shuw. g3, 3% FE, TR, S0

25. -1 T GE-11 = GAlAT BT ;
=i - | = - 1
(afeste) (For~t)
a.  JEE fTEr i gTSia fae
b. & amuTRa foaR i. Sfrewfedm
C. Tl Gadt foEm iii. St g3

d. 3wiyE faer iv. TEEL S
fr=ferfad %t & ¥ Wel 3T g
ETE
a b c d
(1) iii i iv i
(2) ii i iv iii
(3) iii iv i ii
4) iv iii i i
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26.

27.

28.

29.

30.

31.

Technological development and the extent of geographical and social isolation are the
parameters used to differentiate tribal communities one from the other. Who said this ?

(1) N.K.Bose (2) Surajit Sinha
(3) D.P. Mukherji (4) G.S. Ghurye

Of the following who is well known for using subaltern perspective in studying the Indian
Society ?

(1) D.P. Mukherji (2) Y.B.Damle
(3) Gail Omvedt (4) N.K.Bose

Which is the term used by Giddens for the contemporary crisis ?
(1) Manufactured uncertainties (2) Fluid Society

(3) Imagined nationalism (4) Closed boundaries

The main limitation of structural functional perspective is that it —

(1) s suffering from unreliability.

(2) is not based on empirical evidence.

(3) considers only the static picture currently available at the time of field work.

(4) gives importance to field work.

Who coined the concept “culture of poverty’ ?
(1) Oscar Lewis (2) Gunnar Myrdal
(3) M.N. Srinivas (4) M. Marriott

In our country the child labour is actually practiced in :
(1) Service sector in the formal organizations

(2) Formal productive units

(3) Software units

(4) Cottage industries

Paper-111 12 JA-005-17
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32.

33.

34.

35.

36.

37.

Given below are two statements, one is labelled as Assertion (A) and other as (R) :

Assertion (A) : The Melting Pot thesis does not hold true for the nation building process
in India.

Reason (R) : The political unification preceded the cultural integration of the country.

Select the correct answer from the following codes :

Codes :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Which one among the following is not the cause of ethnonationalism in India ?
(1) The uneven distribution of resources.

(2) The process of democratization.

(3) Mass education.

(4) Empowerment of women.

Who among the following has mobilized the poor for the right to information in Rajasthan
particularly and other parts of the country as well ?

(1) Mridula Mukherjee (2) Aruna Roy

(3) Pupul Jayakar (4) Krishan Bhatia

What is the percentage of Delhi’s population living in planned colonies ?
(1) 33.08 (2) 237
(3) 550 4) 730

How many towns are there in India as per census 2011 ?
(1) 7935 (2) 8112
(3) 5161 (4) 7703

Given below are two statements, one labelled as Assertion (A) and other as Reason (R).

Assertion (A) : Slum dwellers living in Central part of cities are uprooted and displaced
frequently in the name of encroachments.

Reason (R) : Cities” Central places are more valuable for urban local bodies in the present
neo-liberal markets to fetch much revenue.

Select the correct answer from the following codes :

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Paper-111 14 JA-005-17
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33.

34.

35.

36.

37.
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(3) (A) T e, fg (R) Tord &
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38.

39.

40.

41.

42.

43.

Given below are two statements, one is labelled as Assertion (A) and other as Reason (R) :

Assertion (A) : As per census 2011, total increase in urban population was more than total
increase in rural population.

Reason (R) : There is tremendous increase in the number of census towns.
Select the correct answer from the following codes :

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Who has said that “some of the most powerful American business enterprises were in fact
‘habitual criminals” ” ?

(1) Hermann Mannheim (2) E.H. Sutherland
(3) John Mack (4) Elliot and Merril

Modern criminology is concerned to discover ways of :
(1) Reducing crime and delinquency.

(2)  Successful treatment for offenders.

(3) Crime detection.

(4) Both (1) and (2)

Which of the following is not a form of domestic violence ?
(1) Dowry deaths (2) Sexual Abuse
(3) Abduction (4) Wife battering

According to R.K. Merton, which path is followed by the drug addicts ?
(1) Ritualism (2) Frustration
(3) Rejectionism (4) Retreatism

Who among the following attempted to discover the social causes of suicide by relating
the rates of suicide in different social groups to the characteristics of the group ?

(1) E.H. Sutherland (2) E. Durkheim
(3) Max Weber (4) R.K.Merton
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38.

30.

40.

41.

42.

43.
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(2) (A) 3R (R) I W& €, T (R), (A) Tl &t samen == € |

3) (A) T & T (R) T ¢ |

(4) (A)Tod &, g (R) W&l & |

Frefefad ®§ ¥ oo 98 a1 ¢ fof “siiyeay wifriel! STt ST Sami § | $8 avqd:
‘STEAT ST &4 2

(1) &9 B (2) IUA WS

(3) S H® (4) sforme SR AR

MY TR a7 & WIHR He=feiad § § fhad fofe Sure @isH 9 7 2

(1) TR 3T STUARAT B T HLAT
(2) IR % T FheTaTge STaR
(3) TR I AT ST

@ (1) 3R ()H

frfefed 5 @ i 91 el & w9 781 € ?
(1) weTgg (2) o Sedre
(3) 31U (4) U B U H

AN, He o AR HIGeh 5o & AGa1 o FRT e 42 o1 SFER0T fehall ST € 2
(1) HFEAR (2) T
(3) ITHHUTETR (4) UTITTHAR

frfefaa & @ frae faf= amtsts T9el & T9g & et @ afciecr &t g3 1 gl
ST & HTAISTh RO ol GIST HI T YA haT ?

(1) =Ua WS (2) ¥ 3@

(3) HF IR 4) RF WA
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44,

45.

46.

47.

48.

49.

In the wake of Globalization Indian economy has —

(1) Reasserted its commitment to socialist path of development.
(2) Reasserted to mixed economic path.

(3) Reasserted the Gandhian model of self sufficiency.

(4) Opened up to economic neo-liberalism

Which one of the following is not an objective of ‘Science Policy — 2003’ ?

(1) Accomplishing national strategy and security related objectives by using latest
advances in science and technology.

(2) Invite private parties to invest in research and development.
(3) Foster scientific research in Universities and other academic bodies.

(4) Empowerment of women in all science and technology.

By connecting countries, globalization has resulted into :
(1) Lesser competition among producers.

(2) Greater competition among producers.

(3) Making a country dependent on others.

(4) No competition among the producers.

Among the following who has given six-fold classification of Indian traditions ?
(1) M.N. Srinivas

(2) McKim Marriott

(3) Milton Singer

(4) S.C.Dube

Who among the following are the prominent members of little tradition in Indian Society ?
(1) Folk artists (2) Teachers
(3) Elites (4) Nobles

“Nationalism in India is a product of the material condition created by the British
colonialism.” Whose statement is it ?

(1) David E. Apter (2) R.Bendix
(3) T.K.Oommen (4) A.R.Desai
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44,

45.

46.

47.

48.

49.

ATAHIT o ST IRA e

(1) forobra & TESTETE! 92 & U Hicagdr Sl S g |
(2) Tafsa anfées o it e &

(3)  TeH-TTRAT & TefaTaT Higet i I € |

(4) oo Fa-37RAE % fow TR @ fe

fefeiad & 9 F-a1 “fast iTd-2003" 1 3899 & € ?

(1) Tamm 3iiX W=l § Tai=as wfaar s FanT Y T W0HIT 3T GReT Tadt S2var i
TR HEAT |

(2) 3FEEN 3R o # e o fow it gedi o ST & |

(3) Tovafommerar iR 3= TS (et T SR I T THUT HAT |

(4) T fa9 3R Ui=diTent § AiEeTsti &1 QeI |

I ol SIS AT ST TROTH g3 & :
(1) ScaEeht | 7 afaerEt

(2) ScIEHI % ST St HiceE

(3) TR T W R T

(4) ScUEH! % o BT wiaeTeT Té

fr=ferfad o @ forem ORAE TERre 1 e ®ies’ (: STATH) ariehor WEqd o € 2
(1) uwaTA. sifer (2) BT ARTe
(3) e AR (4) uwad g

frefafEd B § 9 IRAT THIST i o TRERT & [T 955 & ?
(1) <% FAHR (2) foers
(3) T (4) Fo

“YRA T IeZaTg {SfesT SUHaseg g1 S Hifdes S 1 Ry € |7 T8 wue fetarad § |
TR & 2

(1) =g o= (2) o S

() T T (4) TR Qe
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50.

51.

52.

53.

Who has written/edited the book ‘Peasants and Peasant Societies’ ?
(1) Robert Redfield (2) T.Shanin
(3) Eric Wolf (4) Oscar Lewis

Match List-I with List-11 and select the correct answer from the codes given below the
lists.

List—1 List— 11
(Concepts) (Authors)
a.  Little Community i Andre Beteille
b.  Universalization and Parochialization ii.  Oscar Lewis
c.  Dominant Caste iii. Robert Redfield
d.  Cumulative and Dispersed Inequalities iv.  Mckim Marriott
v.  M.N. Srinivas
Codes :
a b c d
@ i i iii iv
(2) ii i iv %
(3) iii iv % i
4) iv v iii ii

From among the following who has studied peasant movements in the Indian context ?
(1) David Hardiman (2) D.N. Majumdar
(3) D.N. Dhanagare (4) S.C.Dube

Given below are two statements, one is labelled as Assertion (A) and other as Reason (R).

Assertion (A) : By participation in the democratic institutions women are feeling
empowered in the rural India.

Reason (R) : The constitutional amendments have ensured participation of women in the
democratic institutions of rural life.

Select the correct answer from the codes given below :

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.
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50. frfeiad § @ fohe ‘dioied U Uit |iTgers AT qRae fol/duned & & ?
(1) T TEwies (2) & e
(3) REFIw (4) e A

51. a1 3R gei-11 % GAfAd wiTg 3R Ghadt & - §T 7T %2 § T&t 3| gHT

it - | =it - 11
() (F )
o TEE i ST ad
P RESKIESNERECRNICREIES L] ii. 3 e
(TTAITHERERIOT e T
C. WS iii. e ISHeS
d. FHcied Us femde s=aanadsT (Godi td iy, A6y aRkae
faeR-faeR sragman)
V. THUA. sifeEs
FHE
a b c d
@ i I ii WY
) i i iv v
(3) iii iv v i
@) iv v i i

52. frmfefad B | fha aRdT G5 H haM TRierl o1 3Teaa fopan € 2
(1) <foreafer (2) ST AHER
(3) TIEA. AR (4) uEdE g

53. 9 31 e fRU U, U e (A) § AR @ A (R) €
AU (A) : UTHIOT TR | A eAehaites Tersti § YRTERT sk T9me ST Y &l & |
A% (R) : GO AL = U STia b Al T Semel | Aigetet ol qrieR gHved st
T

T

(1) (A) 3R (R) I & € 3R (R), (A) i Tel A& € |

(2) (A) 3R (R) 31 Tl &, T (R), (A) 1 Tt AR el ¢ |

(3) (A) T T, fFg (R) T |

(4) (A) 7T &, g (R) W&l & |
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54.

55.

56.

57.

58.

Pauperization means :

a.  the process of making people pauper or impoverishing.
b.  astate of extreme poverty or destitution.

c.  astate of fulfilment of minimum needs.

d.  astate of indigence.

Select the correct answer from the codes given below :

(1) a/bandc (2) b,candd

(3) acandd (4) b,danda

Who initiated the studies in Industrial Sociology in India after its independence ?
(1) Rangarajan and Ramaswamy

(2) Mehta and Tripathi

(3) Sheth and Mayers

(4) Breman and Das

Which among the following is not the essential characteristic of bureaucracy ?
(1) Oral communication (2) Division of labour

(3) Written rules (4) Impersonal relations

According to Max Weber “alienation in a capitalistic system’ refers to
(1) Estrangement with one’s work

(2) Disenchantment of a worker

(3) Freedom from the routine work

(4) Engagement with the work

When did the first National Commission on Labour submit its Report on labour problems,
both in the organized and unorganized sector ?

(1) 2002 (2) 1969
(3) 1952 (4) 2006
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54.

55.

56.

S57.

58.

SRR T 37 &
a. AN Bl ke AT TS 99 okl UshAr
b.  rcafyes T A1 RIS @ et

C. TIAqY SMEvIwHATS i gt fefd

d.  3RE@ = fefa

T T T Fet @ Hel SR g

(1) abs3iRc (2) b,c3Xd
(3) a, c3wd (4) b,d3Ra

fAfcfad § ¥ fFE- 9RA S Saad Wid o 99E 9RA S SIS & ST
SR o ?

(1) TREH IR THEH

(2) T 3R Fuet

(3) e IR TIg

(4) 9T AR I

Ttatad B § SiF-dT Aeheel Sl Tar foeiar et ¢ ?
(1) Hitgs gomoT (2) = = fae
(3) foifad fFem (4) ToRTRS gey

T 9o o 3TER Goiae! oFee § “foday” (3terme) fefofad § 9 68 Isfia #xar € ?
(1) =afer = o % 9 ferfa

(2) UH FHHBR Hi T

(3) A % & g

(4) =M I T

et S Wl AT AT 7 TS S STTad T &5 ohi 9 THEet & Gee | 3701 R

e TR Y ot 2
(1) 2002 (2) 1969
(3) 1952 (4) 2006
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59.

60.

61.

62.

63.

Which statement among the following is associated with the understanding of a ‘Post-
industrial city” ?

(1) A city with only a few thousand people living within its borders and characterized
by a relatively closed class system and limited mobility.

(2) A city in which global finance and the electronic flow of information dominate the
economy.

(3) A city that lacks proper infrastructure and is over crowded with tourists.

(4) A city that is newly established for the governing elite of the country.

Given below are two statements, one is labelled as Assertion (A) and other as Reason (R) :
Assertion (A) : Majority of the Coastal States in India are highly urbanized.

Reason (R) : They had early interaction with other countries.

Select the correct answer from the codes give below :

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Human Development Index was developed by
(1) Dr. Manmohan Singh (2) Dr. Mahbub ul Haq
(3) Dr. Asish Bose (4) Dr. Montek Singh Ahluwalia

Which one is not the indicator of Millinium Development Goals ?
(1) Eradicate extreme Poverty and Hunger

(2)  Achieve Universal primary education

(3) Reduce Child Mortality

(4) Shelter for all

Who has written the book, ‘Asian Drama’ ?
(1) A.G.Frank (2) G. Myrdal
(3) Samir Amin (4)  Ashish Nandi
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59.

60.

61.

62.

63.

feAfefEd & | SIF-T1 HoF “STR-3=Te TR S GHeH & Taitad g ?

(1) TFH TR ¥ P & AT TqHl Qe & 5T W & I 5! faeimer ierspa sg o
et 3T W Teiicrar eidt € |

(2) UH TR STEH el ° Afveas fo iR G o Sotaei-eh WalTg i M€ erdl ¢ |

(3) U TR TEH T SR TXET B BT & T STl T i g gl ¥ |

(4) THTR ST R I & IGH AT TS FA & (o0 FA1-F1 SG=& T E

e 31 e fgT e €, U et (A) € SR g as (R) ©
AU (A) : TR T HET G2 T 3T RIS & |
% (R) : 7! TAY I3 o T TeoT SFAhaT g8 o |

T f5T 7T Ht T TEl IR g

T

(1) (A) 3R (R) I & € 3R (R), (A) i Tel A& € |
(2) (A) 3R (R) 31 @&t €, oo (R), (A) T el =men el & |
() (A)TIE, ] (R) T & |

(4) (A) T g, 76 (R) Wl & |

e forehr gaehish F1 for fmfeiad 5 § forreh g1 foha T o 2
(1) =i T e (2) i 9Egd 3 &h
(3) =i ety o (4) I Hiew e Teeaner

AR o | HIF-91 TeH foehrd Tl o1 o el § 2
(1) 3Tty TET 3R 9@ H e

(2) TrEifes wTates o8t T w1 T AT

(3) ST GIRT I HH FHEAT

(4) @t % forg s

fefeiEad & | iF ‘TR g A J&TH & o & ?
(1) TS (2) i, e
(3) WX sl (4) o e
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64.

65.

66.

67.

68.

Given below are two statements, one is labelled as Assertion (A) and other as Reason (R) :

Assertion (A) : Development is responsible for the uneven development.
Reason (R) : Development always takes place at the cost of backward regions.
Select the correct answer from the following codes :

Codes :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Which one is not the part of dependency theories of development ?
(1) Centre-Periphery (2) Under development
(3) Core (4) Smart City

In India the dual report system is being used for reliable estimates of Vital statistics as part
of :

(1) Sample Registration System
(2) National Sample Survey

(3) Population Register

(4) National Family Health Survey

The slogan “Save planet earth” was generated at :
(1) Rio Earth Summit (2) Jakarta Summit

(3) Copenhagen Summit (4) Brazil Summit

Who among the following has developed the theory of step migration ?
(1) Ravenstein (2) D.J.Bogue
(3) E.S. Lee (4) K. Davis

Paper-111 26 JA-005-17



64. e 3 Fe f{U U §, weh iR (A) § R @ A (R) ©
e (A) : e faom faem & fou stweEr ¢ |
& (R) : faem ea & ss &3 & Hhq W ¢ |
T U T Fel @ Hel SR gHu
HT:
(1) (A) 2R (R) 31 W&l & 31X (R), (A) f Tl A= E |
(2) (A) 3R (R) I @& €, T (R), (A) Tl &t samen == € |
(3) (A) T g, foog (R) o & |
(4) (A) T &, g (R) Wl & |

65. Tr=fcifiad § | -1 oo o qisaar fag= o1 37 T8l & ?
(1) h-uRfy (2) a1 fawm
3) TS 4) e {9y

66. ffciRad & ¥ T 37 % ®9 H Hecol e o favaa-ia A & o 9Ra | 54 R
TOTICAT BT FERT fehalm ST %81 € 2

(1) =St USirehoT Jomet
(2) TR TS TR

(3) SHEEA IR

(4) T IRER W Hee

67. W wHS-3T” T ART TgCH IR Fel AT T 4T 2
(1) et-geedt o woier (2) ST foraR T
(3) IUET RTER FH oM (4) SStier oY gee

oo

68. Tt § 4 fora | YaaT & g o1 foera fomar € 2
1) WA (2) S am
(3) zua @ (4) & <fom
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69.

70.

71.

72.

In which year the first phase of the ‘Reproductive and Child Health Project’ was initiated
in India ?

(1) 1995 (2) 2000

(3) 2005 (4) 1997

Low Birth weight and pregnancy wastage in a given population occur primarily due to :
(1) Insufficient health care

(2) Female illiteracy

(3) Maternal malnutrition

(4) Traditional practices

Match List-1 with List-11.

List— 1| List— 11
(Authors/Editors) (Issues)
a.  Rita Manchanda I. Condition of Widows
b.  Vandana Shiva ii.  Women’s Movement in India
c.  Neera Desai iii.  Women in Conflict
d.  Martha A. Chen iv. Ecofeminism

Select the correct answer from the codes given below :

Codes :

a b C d
@) iii iv i i
2 i i iii iv
(3) ii iv [ iii
4) iv i i i

Which one of the following gender-related issues, according to the Supreme Court
guidelines, formed into an Act in 2013 ?

(1) Dowry deaths
(2) Honour killings
(3) Sexual Harassment at the workplace

(4) Domestic Violence
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69. THfciiad § 9 fvg a9 YR H ‘U 3T et @ IRASHT &l Tgell a0 YA fomar man

o7 ?
(1) 1995 (2) 2000
(3) 2005 (4) 1997

70. ol <t IS SO | S % GE OI9] b1 E e SR T & &1fd EteiiEd B | gedar e
HROT F FIel € ?
(1) o @ E
(2) Gl R
(3) g porT

(4) TRERTE qE

71, G- SR gHi-11 H gaferd HiT

= - | = - 11
(Srae/aTEE) ()
a.  Jar mEEeT i.  Toreamen = 59w
b. g fren ii.  9RT H Alge g
c. HARrIEE iii. ¥3¥ Afeamd
d. wmew fae iv. UIRREfq®E TR (SHhH)
HT !
a b c d
(1) iii iv i i
) i i i iv
(3) i iv i iii
4) iv i i i

72. JoEAY AEEE GEIFSIT % SER FEfcRad for-gedt get § ¥ sE-Er a9 2013 § U
Ftafm &1 2
(1) =37
(2) 3R fHfer (FIS T & fotw gem)
(3) R TS W A e
(4) = fewn
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73.

74.

75.

Match the following lists :

List—1 List— 11
(Authors/Editors) (Books)
a. Karin Kapadia i. A Field of One’s Own
Gender and Land Rights in
South Asia
b. Leela Dube ii. Speaking Peace : Women’s

Voice from Kashmir

c. Bina Agarwal iii. Women and Kinship
Comparative Perspectives on
Gender in South and South-
East Asia

d. Urvashi Butalia iv. Siva and Her Sisters : Gender,
Caste and Class in Rural South
Asia
Select the correct answer from the codes given below :
Codes :

a b c d
(1) iii i [ iv
2 iv i [ ii
(3) iii i iv ii
4) i iv iii ii

Which one of the following is not a correct match ?
(Authors) (Books/Articles)
(1) Leela Dube Matriliny and Islam
(2) K. Saradamoni Matriliny Transformed
(3) T.Nongbri Gender and Khasi Family Structure
(4) F.Agnes Law and Gender Inequality

For Whom, “patriarchy is no less inflicting than caste’ ?
(1) Self Employed Women’s Associations

(2) Dalit Women’s Organizations

(3) Human Rights Movements

(4) Alliance for Restoration of peace
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73. frAfefad gieat = gafad HifEo

(FrEe/HaTE) (T&T)
a. HRA Huear i. T ®ies 3 o= 31 ; Siet U oig
e 7 WIS TR
b. wier o ii. T 9 ; gHT St R HYHR
c. SuT 3nraTet iii. g9 ug fefem ;. FWfea gdufea
T
d. et gerferan iv. forer ge & oy SR, FRe us
FATT T BT WIS TRmn
FHT
a b c d
1) iii i i iv
) iv i i i
3) iii i iv i
@) i iv i i

74. frAfAfEd B 9 SF-91 &t gaferd T8l § 2

(FiE) (TETh/erE)
(1) e - e T Twm
(2) & WREEA - A ZEEEE
(3) & i —  SieX U Tl e EE
(4) UE T —  f Ug S TRt

o oo

75. FAtetead B 9 faes fow, fuges snfa @ w9 $wevg 7= & 2
(1) = Afeer 99
(2) sfora AfeT T
(3) W AUHR AT
(4) wif =t g % forg Tesie
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